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CRi I

(v) ~ l[Ff1if -m!t mret. 81e7csi Hi ~ ~ ~ mw ocff v- '.'
(vi) i[oro7J-ft ~ ftrot R'O'd23 dl23CSG/3d ~ ~ ~ v- I

srar-fT
(vii) l[F.f?i t. 1 fftr ~-~ ~ -e- 3 ~--gror CRi I €Rgf6R6 l[Ff1if fftr .. ~ nee. fEcr

"?TC{ -e- ~ ?T5 l[F.f?i/ l:fTP.ft crt 3&/Rdt Hi 0TP.i3"/ ~ uFte -e- l[F.f?i J ~
CRi I

l[F.f?i t. 2 ~ 5 3cr ~ -e- 2 ~ tk:fit I rnoi3Ci l[F.f?i er ~ 5-10 8ifecsi fftr
fe3"r ~ tJlJlel v- I

V!f?i t. 6 fftr ~ ~--gror CRi I ~ f?"if ~ &0 If!R'i Ci& I ~ l[F.f?i ~ Wc;t
pr cJ?oTr I rnoi3Ci l[F.f?i e: ~ 15-20 81recsi fftr fe3"r ~ tJlJlel v- I
l[F.TO t. 7 ~ ~ ~ l[F.f?i V?orr I fEu l[F.f?i 6 Wc;t er V?orr I

W"aT-l)f ~ E

(viii) l[F.TO t. 8 fftr fEq-fEcr ~ -e- 3 ~--gror J<ffl I ~ -gror er ~ 1-15 m:ret
f?"tf f§-r ~ tJlJlel -J- I

(Punjabi Version)
~ : (i) ~ ~-if3(ff -e- C!1c!1c8 @" '3 W-~/Wcr-~ ~ l:fTf5 @ W-~/Wcr-~

142/ A "F.TffO eOtr q# I

(ii) ~if3(ff ~ ~ fbf -e- @" ~ -& ~ cW fqr fbf fftr C!1e7c8 RfJ3 30 &
CRi ~ oTcr C[H?1O CRi I

(iii) ~-i13cft fftr .l:fTP.ft ilor/& ~ ~ f[TJ;{f! cJg cit3 ~ l[F.f?i/l[Ff1if er ~ ocff
cf8r ~ I

(iv) l[F.f?i-iBo fftr f3?i -gror CRi.. sraF--f}; srar-w 'H3 srar---e- I srar--ft ~ ~
"&!t t.rrJC!t -3 ."g ~ srar-w 'H3 srar--e- -Wtr fi:TcrEr fEcI ~ t tJ(f rrcre-

::8 : .::: -

Maximum marks: 50Time allowed: 3 hours
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(Commerce Group Only)
(Punjabi, Hindi and English Versions)

(Evening Session)
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Total No. of Questions: 12]



25. ~ ~ -e- ~ ~ I ~ Feedltl era, :
(i) 1?ffe;fu3" mEt 3-'- ~ 14,000 ~ ore I

(ii) ~ 17,000' er h qa;r far fupw I

142/A-SS

]+1=2

foHo trrQFrO (JO : 2

i-ftilor ~ "

011-reT 2016 6,000

31 ~ 2016 3,000

30~ 2016 4,500

30~ 2016 6,000

01 tlcs'@dl 2017 4,000

31}fTOB"2017 3,500

2

1

1

1

1. (a) ~ orate cit ~ ~ ?
(b) lfTEt m:ro 9tr :

RTCf -fEq M3t ~ I

(c) ~ t=tt 0TC53" fuB- :

l{F.f?i t. 11 f?tJ 3 (jtr-grar ~ I f30 W ~ -e- l{F.f?i crcr I CJ3q l{F.f?i tJ10 ~

er c'J?oTr I ff:iai3C( l{F.f?i e: ~ 15-20 8,e1(')i f?tJ- fe3T ~ ij,cf1t:!, j- I

l{F.f?i t. 12 ~ ~ "k j- I fro l{F.f?i 6 Jilqt er c'J?oTr I ff:iai3C( l{F.f?i er ~
~-iBift -e- 3 -4 ~ f?tJ fe3r ~ ij,cf1t:!, j- I

STaT-@"

l{F.f?i t. 9 i1B 10 ~ 2 Jilqt er c'J?oTr I ff:iai3C( l{F.f?i er ~ 5-10 8'e70i f?tJ
fe3r ~ tf'cf1t:!, j- I
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Liabilities ~ Assets ~

fufutr £(te1d 56,000 ~ 40,000
RIQ1do Fdild~ 84,000 fufutr Q(tt1d 2,40,000
Q;:ft qrg : Jl'CT"q 2,80,000
Ol}f 4,80,000 ~~ 3,00,000
F.f1)f 2,40,000 7,20,000

8,60,000 8,60,000

"fro fuB- ~ 8~1\~00 :

(i) ~ ~ ~ fEq fEHrcB 2,00,000 ~ ~ CfCiRt m );f3- ful:r C?eT 1,76,000
~ er ~d1310 cft3r m I

(ii) ~ 31-03-2015 ~ ~ W 2,200 ~ m I

(iii) h ~ t1Ht Ocnf er tTTCft ~ 400 ~ ~ 1flB <'XJT .. cft3r
(iv) ~ er ~ 400 ~ ..
"I?fT}W) lffir Cfl3T f3>;ro ~ I

(ii) Hi@e'dl eR31@iI eft it ? ful:r er ~ W;tr I 4
(iii) Ol}f );f3- F.f1)f 4:3 ">r!QlfT3" ~ Ri@eid 00, ~ er ~ f80r 31 1-f1CJB", 20 16 ~

"fro fuB- 11fQFl'cf it : 4

-
Receipts ~ Payment ~

ToOpening Cash 2,150 By Salary 12,000
ToOpening Bank Balance 32,600 By Sports Expenses 13,800
To Subscriptions: By Electricity Expenses 2,000

2013-2014 2,020 By Telephone Expenses 2,400
2014-2015 37,800 By General Body Expenses 400
2015-2016 1,800 By Postage Expenses 1,400

To Donations 14,000 By Printing and Stationery 1,700
To Bank Interest Received 2,680 By Building PurchaseNc 24,000
To Receipts from sports 5,200 By Repair Expenses 800
To Telephone Recoveries 1,800 By Closing Cash 3,530

By Closing Bank Balance 38,020
1,00,050 1,00,050

6. trCf l{JiIOt ~ ~ §o l.[F.JO Qff
(i) ~ 31 WCfB", 20 15 ~ n8" ~ fEq cffiB" er 1ft8t );f3- )?it IFedn Cfl3T ~ fuB-

~it: 4

( 3 )



..

~ fH3t ~ ~ M=r z ~ ~ HiSe'a N -va fucW;r- 1RJ3t ~ wfi.R? cfBr :
(i) ~ ~ -et cfuB 20% We cft3t ""OT8 I

(ii) e<!:e'd 3' J.lqT ~ C5it ~~Htf' 5% -afrcrft I

(iii) ~ ET9 ~ ~ 5:3:2 -afrcrft I

(iv) Z 40,000 ~ ~ 1fiIT ~ ~ I

(v) ~ -et F.Ptf tT ~ 40,000 ~ trfuw fuTw I

(vi) HiSe lal ~ 1fiIT ~ tT ~ Z -et 1fiIT ~ })fUTO ~ qaor -J 11f3- cnft ?t ?1W

-;:rt UfTCT He ro3 HiS e la ~ ~ ~ -fr -;:rt fw,{r -fr cfBr ~ I

1p)a-~ Cfl3T. HiSe la i ~ 1fiIT cr3" 11f3- ~ ~ tT 1irf:n-f fBor ~ I

142/A-SS

e<!:ela9~ ~ ~ ~

~~ 10,000 ~ 15,600
fufuq g<!:eld 72,000 fufuq e<!:e'd 48,000
J.lqT ~ C5it f~~Htf' 1,600 10,000HGT"Cl'"

1fiIT cr3" : ~~ 1,60,000

X 1,36,000 F.Ptf 16,000

Y 62,000 ET9 3' tJ10T Cfl3T 32,000

2,81,600 2,81,600

HiSelai 3" ~ cfBr fur ~ fEq ~ 2016 ~ ET9 r;B tJ10T ~ 2:1 ~ "@.P3" We­
C@i,{<!:a1I "HfuH3t fE0 ~ fur :
(i) ~ ~ 10% to ore? We cft3h,.rt fuTw I

(ii) e<!:elai ~ IfqT ~ ~ 6% ore? f~~Htfl cft3t ~ I

(iii) JiCT"q tT ~ 3,80,000 trfuw fuTw I

(iv) fufuq g<!:e'ai We- 1fT}ffi 7,400 ~ -et e<!:ela1 q-ffi.r ~ cft3t ""OT8 I HiSe'di
3" 1.fc)cf ~ 1{g 3" ~ We- faClldi,{ qoo tT ~ cfBr I fu HIQldCS~- - - = .-
~~~~I

1p)a-~ Cfl3T r;B 1fiIT cr3" ~ I

(iv) fEq 6Cf}{ ~ r;'8 mr ~ ~ ~ cw-r. ~ "B'cf fw1 I 4

7. X 11f3- Y ET9 ~ }fflLfH We- 3:1 ~ ~ ore? ~ <JE- ~ M=r HiSe'a 110 I 31 1-flGB

2017 ~ ~ tT 1irf:n-f Nor -va im ~ m : 6

(4)
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1

1

(iii) tra3" otB- ~ (iv) ~ ~

(b) ~ ET9 I?fOUS ott ~, ~ ~ I?fOUS 88.94% -v? ?
(c) ~ dI31r~d1);{t~ UTUaT~ ~ ~ -e- Htr ~ or futf I

142/A-SS

(ii) ~ ~ ~(i) mf3T ~

1

S'OT-l1f 1?13- sraT-E ~ ~ fEq 9'dT qB- I

sraT-l)f

8. (a) fuucx>t iN- ~ 1{e- mGt gill tr iliw oc:ff -J ?

(i) X 3 g<!t'di ~ 10,000 ~, RCTq ~ ; 20% -we 3- ~ l.R5TG ~ 30,000 ~
fuw I

(ii) fEq g<!t'd 3 ~ ltZz ~ f,:rqt tft ~ Be? 8,000 ~ m tft cfuB 4,800 ~
lJTEt aret I ~ g<!t1d 1,200 guE tft cR3t 3- ijdl310 oiW faTrHT I

(iii) ~ 15,000 tft fEq ~ -mGt m ftm ~ X 3 ~ ~ ~ ~. ijdl310 .~ ~
~ ~ 10,000 ~ fuw m I

(iv) Y, OTH <RroT ~ ~ 30 ~ lf3T ~ & C5C!T Rfc:n.B ~ I

(v) WH ~ ~ ~ 12,000 ~ Be? ~ 110,~ Hi8t'di 3 fuJot ~ ~ ET9 ~ 1?1QLIS
~~I

(vi) ~ ltZz ~ trtit cfuB tr 70% ~ uWrr- I

~ Cfl3T, Hi8t Idi ~ gill tfl3- ~ ~O}f ~ ~ ~ 1ft qoo C5C!T h Cfl3T f3wcr
cfcll

e<!t1ai);{t ~ mEtW ~

g<!t'd 40,000 h~~ 44,000
))-1t IFe dn tIl d I ffffi" 2,600 e<!t'd 15,000

~ C5C!T r~C@Htll 15,000 ~ 50,000

X's tr qa,:r 40,000 l.R5TG 75,000

gill tfl3- : lrhB 20,000

X 1,35,000 OTH~~ 100 ~ 5,000

Y 30,000 WH ~ ~ 300 ~ 18,000

Z 10,000 HTCf 15,600

))-1foR fu3 ~ Cfl3T 30,000

272600 2,72,600

trt
X, Y ~ Z ET9 ~ 2:2:1 ~ I?fOUS ~ ~ <J0, 1::fl3}r ~ m 31 1-rOB 2016 ~ ~
tr ~ 1Bor "V6 futt I?@1'cf ~ : 6

( 5 )
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gill ~ e(t'e1d'l))ft 31.03.2015 31.03.2016
~ ~

n lhft 2,50,000 3,50,0001rfF.f=
~ ~ tifF.r 1,50,000 1,00,000
Hlq1d(') fdt:ld~ 40,000 60,000
E'9 ~ ~ 1:fl3T 30,000 48,000

4

6

(iii) ~ ~ ~ ~ "O((fc) "F.iET ~ qe}f wf}.rc? 00 ?

12. foHo t"l'(tO('dl 3"'" ~ ~ r~~d(t ~ ~ :

. (ii) foHo 8e(')l~ i -e- 1?fTUTO 3" 31 1fTOB". 2017 g 1:B}f ~ ~ We>" "ffi:!t 1Eq ~
E'9-~ f~~d(t ~ ~ : 4

~~d(t 31.03.2017 31.03.2016
Fle18(,) 3"'" ~ 37,50,000 30,00,000
trcr I)f1)-R() 60,000 75,000
~ 25,30,000 22,00,000
~qo 40% 35%

4

11. fdo 1{F.l7>t Wif "cl1ft ~ l£F.lO ~ :
(i) 1.REftq ~ t 20,000 ffiBT ~ "F.iET 100 QUE lf3T "Rwa" ~ 10 ~, ~

~ ~ i80 foHo ~ "*t'e1fean ~ }hjT :

~ i80 3" 50 QUE
~ 3" 35 guE (~ 00) ~

ufum ~ riff3}f ql(?'3" 25 ~. I

30,000 ~ "F.iET ~ i80 lflB <1E I 5,000 ~"F.iET lflB fWi 18at ~ "cl1ft ~
O<JT ti m ~ ~ t!t CJTJft ~ ~ fe3t m I 13'Cit fu30(Idi ~ 1?fO'-f3q
Wr O"'C? ~ ti m I

<Ta1{t3" ~H~ 800 tifF.r ~ cft3" crrE-. ~ ~ ~ ql(? CJTJft ~ ~ 1?ffi6E
fa<Jr I ~t~~tm3"~cre I

~~~ 1.6

3~fa3 ~ ~ 1,28,000

HCTCf ~ 1,12,000

2

29. llfd~d3(,) -e- f~F.l21cl(t .3"'" ~ ~ fum-rt futt I

10. -va fucIT t"l1(to(1a1 3"'" 3CJE ~ lf3T ~ :

(6)
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Cost ~ 1,50,000

Salvage ~ 8,700
Life 25 Years

Period 3Years

10. f0Ho ~ ~ ~. ~H. ~ ~ -m.-m.1ft. ~ tT ~ ~ ~ 1.8T qoo -er ~
fu;S : 2

1
1

2

18. (a) 'Jo fuB' ~ ~ ~ '8tr' fudt tT W9 oc:ft ~ :
(i) 31J rl (ii) ~ WOE

(iii) ~ ~ -GtaB"r (iv) ~ Boftrw ~
(b) DBMS ~ ~ eft -J ?
(c) B2~. B3 ~ ~ Ir1lB tT ~ ~ ffift ~ fui:f 1

9. ~ Ecrr fum eft ~ ?

3+3=6

~ tI·~oIlJl :

(i) ~ ~ 1ffiic ~ w-rr 3- ~ 3- ~ 7,500~ 1?B 15,000 ~ ~ 8dl1tn
crrc!t 1

(ii) ~ ~ ~ ~ tT ~dI31(') 17,500 ~ cfusr furrrr 1

(iii) ~ ~ })fT}-f'2'(')' crcr tT ~d 131 (') 30,000 ~ cfusr faT>;{r I

;:rt
R3t r~~d(t ~H8F.j(t tT ~ ~ ~ fu;S I

1{H3Ir~3 ~ 37,000 45,000
fufuq- -8~ 50,000 75,000
Q(t G1d 1 fuc:5" 20,000 15,000
qat EEt ~~HClI 40,000 25,000

ggta' 6,17,000 7,18,000
~ 31.03.2015 31.03.2016

~ ~
F.JlCf 1,00,000 75,000
~~~ 1,75,000 1,50,000
lmic 75,000 1,65,000
fufuq- Q (t '2 1d 1,50,000 2,00,000
~ 75,000 90,000
g(tG1d1 fuc:5" 25,000 30,000
<JCf ~ ~ 17,000 8,000

gg;:s- 6,17,000 7,18,000

(7)



(iii) ~ m=r ~ fl:n:0r -e- ~ BTd ~ fu>B" I 4

142/A-SS [See 9th page

2016 ~

June 1 Started business with cash 1,50,000

June 1 Purchased furniture for cash from Vijay 20,000

June 2 Purchased goods for cash 45,000

June 3 Stationery purchased 2,000

June 9 Purchased goods from Vinay on credit 10,000

June 15 Goods sold for cash to Prem 28,000

June 16 Goods sold on credit to Pritam 18,000

June 30 Paid Interest 8,000

-(il-T iH3T ~ ~ JtCTq 60,000 QUE FIT I

(ii) ~ Etrr ~ "1tito fol-r0 &-w -e- ~ r~edi~cfct : 4

Debit ~ Credit ~

Salary 5,000 Sales 3,50,000

Wages 4,000 Purchases returns 3,000

Rent 6,000 Creditors 90,000

Carriage 10,000 Commission 7,000

Discount 6,000 Bills Payable 10,000

Debtors 60,000 Capital 1,74,000

Plant 70,000

Building 80,000

Opening Stock 75,000

Purchases 2,50,000

Sales Return 4,000

Gas &Water 3,000

General Expenses . 7,000

Cash inHand 14,000

Cash at Bank 40,000 .,

6,34,000 ,6,34,000

11. i3?> 1f8OT W ~ ~ 1{80 cfct :
(i) f@ cnE ~ ~ ~ ~ ~ -et ~ ~ 31 titad 2017 -e- rAi3H

cr3" futfr§- : 4

( 8 )
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'qflf-Cj;

(vii) JI:(:r fl. 1 it ffClJ-% Jicn ~ 3 iJtNl7T ~ I i'I«JHCO JI:(;jf it % :(~ % C'fPfl{ ~ ~ i'ITfr Jlf(ry/&rffl (.f.TFf

W~ l3fercrT 1fWf/CSf$ f¥hc414 JI:(ry ~ ~ ~ I
Jlf(ry fl. 2 it 5 ~ ~ 2 m m I (I<&IPriCf; Jlf(ry CfiT iJU( 5-10 rifcRr<if it ~ iJfRT ~ I

JI:(ry fl. 6 it 'EfT( \Jfl- sm ~ I 'EfT( it it ~ rftrr JI:(ry ~ I ~ JI:(ry 'EfT( JicFif CfiT iftrrr I (I<&IPriCh Jlf(ry

CfiT iJU( 15-20 rifcRr<if it ~ iiffrI7 rrrWr I
Jlf(ry- fl. 7 ~ q7Ff CJT(7T JI:(ry iftrrr I ~ JI:(ry 6 13m CfiT it1fT I

(Hindi Version)

.;ffc: (i) Jl1Fft \JTIf-~ ~ !J&r '[Ri rrr fcrrFr-Cfit;s/iTcrf- Cfit;s qRf &Ft it fcrrFr- Cfit;s/iTcrf- ~ 142/A \3Tc{f(Z{

fffiit I
(ii) ~-:fi=rw f7& tt ~ '[Ri fi'AcFif ~ cit fq; ff{if ~ ~ 30 ~ ~ w fIft· flilr it ~I
(iii) ~- ~ it &rc# Eit¥ w '1t:i3/1[fif ~ rJf(q[([ ~ fq;q W Jlf(ry/Jlf{;:ff CfiT ~("4I1i'1 r@ fWlr iifWrr I
(iv) JI:(ry- ~ it rft;r 'f{fTf ~ 'fPF-q;, '1f1F-(f{ ffW 'I1PF-1fI '1f1F-q; '&lit ffmTRIiff if ~ o31frrcrrif ~ frey fcrmeff

'JffTf- (f{ Jftr 'JffTf-1f it m~ 'f{fTf cit ~ ?Flit ~ I

. (v) ?"iccq/rlfCh JI:(;jf ~ fW[ :(~ ~ Jftr fFif qft ~ iffrrr ryfff ~ I

(vi) itfrrqT ~ ~ f{ftff(Uf 1fUTCfi ~ ~ qft 13Tj17Frf ~ I

~ Etr- ~ ~ ~ eft ~ -J ? fuJ:r t1}){f r~HF.l31~i ~H31d ~ fuB" I

1+5=6

Name Marks in . Marksin Marks in Marks in Marks in
Maths English Accountancy Business E-Business

Studies
50 50 50 50 50

Raman 40 42 43 40 41
Aman 45 43 42 46 45
Ajay 41 43 42 41 44
Surjit 43 41 42 45 47
Harjit 45 43 41 42 46
Parmit 42 45 43 41 48

FED GcB

6

1
2
3
4
5
6

( 9 )
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142/A-SS

2

1+1=24. %~ Cf<IT ~ ? ~ TfUFfT ~ ~ \1ffift ~ ?

5. q;-q ~ -31$1 ~ I ~ ~lc!f6clli ~ :

(i) ~ wqfu B ~ 14,000 C1Wf ~ I

(ii) ~ 17,000 cnr ~ ~ f?\<rr 1fl!T I

01 ~ 2016 6,000

31 ~ 2016 3,000

30~ 2016 4,500

30~ 2016 6,000

01 ~ 2017 4,000

31 ~ 2017 3,500

3. ~ Q,Cfl q;lf if Q,Cfl ~ ~ ~ 31 ~ 2017 cn1 BllRf ~ ~ ~ i3Wfi ~ f¥f- ~ ~: 2

m ~

2

1

1

1

1. (a) ~ ~ Cf<IT tmrr ~ ?
(b) ft:cKf ~ 'lft :

&:ITfcl Q,Cfl .. • • .. .. .. •• .. .. • wqfu ~ I

(c) iIcn -31~ 'TWf ~ I

~ ~ ~ men ~ fcfi m_ ~ TR ~ cn1 &:ITfcl cnr ~ cg I

2. \3l'l'<:f q a:r:r ~ ~ ffi'q q m ~ if ~ m >3RR ~ I

"frT~ qm 1]'

(viii) JT!t";f -g. 8 if ~f[Cfi Jiq} ~ 3 JCT- 'fITTT ifir I JTf% 'fITTT CfiT iTrfT 1-15 !trait if W!r \ifFfT ~ I

JT!t";f -g. 9 rren 10 JTf% 2 ~ CfiT itw I ~'i')7PrtCh JT!t";f CfiT iTrfT 5-10 r.ifcm<if if W!r \ifFfT ~ I

JT!t";f -g. 11 if 3 iJf[- 'JfPT m I fff.:r if it ~ iff JT!t";f ~ I JTf% JT!t";f 4 ~ CfiT itw I ~@PnCh JT~";f

CfiT iTrfT 15-20 r.ifcm<if if W!r \ifFfT ~ I

JT~";f -g. 12 -if ~ ~ ~ I "lff? 6 JichI CfiT itw I fMIPrtCh JT~";f CfiT \ITIf, iTrfT-~ ~ 3-4 ~
if W!r \ifFfT ~ I

( 10 )
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~ ~ ~~Frt~i ~

fqfqtr ~ 56,000 ~ 40,000

~tlqq 84,000 fc@r~~ 2,40,000
~~. ~ 2,80,000

Wl 4,80,000 ~ ~~Frt~i 3,00,000

~TJll 2,40.000 7,20,000

8,60,000 8,60,000

(iii)

4
31 ~ 2016 qj)~~~~:

4

~ ~ W"lI<ll\JI1 13Wl~ ~ :

(i) ~ q1f cfi ~ 1:% 'qCFf 2,00,000 ~ if wOO ~ ~ ~ ~ 1,76,000 ~ q?f ~

fcmr ~ I

(ii) q1f 31-03-2015 cfi ~ ~ ~ 2,200 ~ ~ I

(iii) ~ if \;flTI ~ q?f ~ ~ 400 ~. ~ ~ ~ fcmr I
(iv) ~ q?f ~ 400 ~
~~~~~I

(ii) ~ ~ Cfqf ~ ? WCfiT ~ ~I

Wl ~ ~TJll 4:3 ~ if ~ ~, \RCIiT ~ ~

Receipts ~ Payment ~

To Opening Cash 2,150 By Salary 12,000

To Opening Bank Balance 32,600 By Sports Expenses 13,800

To Subscriptions: By Electricity Expenses 2,000

2013-2014 2,020 By Telephone Expenses 2,400

2014-2015 37,800 By General Body Expenses 400

2015-2016 1,800 By Postage Expenses 1,400

To Donations 14,000 By Printing and Stationery 1,700

To Bank Interest Received 2,680 By Building PurchaseAlc 24,000

To Receipts from sports 5,200 By Repair Expenses 800

To Telephone Recoveries 1,800 By Closing Cash 3,530
By Closing Bank Balance 38,020

1,00,050 1,00,050.

6: ~ >f~.rr if -« ~ 'dR >f~'f cnr :
(i) q1f 31 ~ 2015 cfi JRf if 1:% ~ q?f ~ ~ 'TfClR ~ ~ ~ ~ ~ : 4

( 11 )
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~ ~ c¬ tt~ if Z c¬ tt~ ~ cTi ~ lR f.:t'71Rt~(j ~m1lR ~mM:

(i) ~ ft~Rt4f 9?1 cWm 20% Cfill 9?1 ~ I

(ii) ~ lR"fiWq ~ ~ 5% ~I

(iii) ~ ffi'll ~ ~ 5:3:2 ~ I

(iv) Z 40,000, m ~ ~ cTi ~ ~I

(v) ~ 9?1 ~ CfiT ~ 40,000 m qr<IT 7J<:IT I

(vi) ftl~?il(l cTi ~ ~ CfiT ftlil<l!\111 Z 9?1 ~ cTi \3WIT{ lR fcptrr \11RT ~ ~ ~ '4t \1qT?J <IT Cfill R..-tlCl
~ &ru ~ ~ cTi \3i~ "fIlT CRCfT cTi M~ I

311iflli971 &1m, ftl~?il(l cTi ~ ~ Cf~ ~ ~ CfiT ~ ~ I

~ ~ ~:~~Rtl1i ~

~~ 10,000 ~ 15,600

~~ 72,000 Fctfcrq~ 48,000

"fiWq ~ \".lTCf~ 1,600 ~ 10,000

~~: ~ ft~Rtl1i 1,60,000

X 1,36,000 ~ 16;000
y 62,000 ffi'll qm &1m 32;000

2,81,600 2,81,600

4

~ ;r ~ FcP'IT fcp?r 1. 2016 U ffi'll qm c¬ tt2:1 cTi ~ if ~, ~ ~ ~~:
(i) ~ w~Rtl1i 10% 9?1 en: U Cfill 9?1 ~ I

(ii) ~ U "fiWq ri cTi ~ 6% CfiT \".lTCf~ ~ ~ I

(iii) ~ CfiT ~ 3,80,000m q](IT 7J<:IT I

(iv) ~ ~ if ~m7,400 m cTi ~ CfiT 00 ~ M 7J<:IT1

ftl~?il(l ;r 3;:piiflli971 ~ c¬ tt~ if ~ CfiT _ MI ?r ~ ~ c¬ tt~ ~ ~ I

'i,-"1iiflli971&1m ~ ~ &1m ~ I

(iv) ~ ~ cTi ~ cTi ft11q ~ \ifffi ~ ~, ~ 'qf{ ~ I

( 12 )
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~ q'ff!WJT ~ 1.6

~ ~~t:q~'1i ~ 1,28,000

~ C!?T ~ ~ 1,12,000

1
1

2

2

18. (a) ~ U ~ m lK ~ ~ C!?T frnrr ~ % :
(i) 'fIlldT .Jf~T (ii) ~ .Jf~T
(iii) ~ ~ .Jf~T (iv) m .Jf~T

(b) Qf{ill(.TI1 ~ ~ <FIT ~, ~ Qf{ill(.TI1 ~ 88.94% m ?
(c) ~ ~ B ~ fl9?9 wrrg ctr C'\T ~ cfi ~ ~I

9. ~ cfi ~f6cch1al U ~ cfi >fCI)]\ ~ I
10. f.i9R1fuld \ijHCflI{l u 'd'm ~ ctr 1'J'Ur-TI cg :

(i) X ~ ~ em ~ 10,000 -q, Wen em 20% Cfi11 ~ Cl~ ~ ~ 30,000 -q fW:rr I

(ii) ~ ~ ~ ~ ~, ~ ~ ~ ~ 8,000 ~, ~ 4,800 ~cW«r ~ ~ ~ fW:rr I ~ ~
em ~ 1,200 cfi ~ ~ ~ fclJ<rr <r1T I

(iii) ~ 15,000 ctr ~ ~ ~ ~ I ~ X am ~ 10,000 if ~;wrr cfi \3lim ~ if ~ ~ ~ ~ I

(iv) \fIl ~ cfi .Jf~lf em Y 30% mTI .Jf~T ctr ~ U ~ em ~ m <r1T I ,
(v) ~Wl ~ cfi .Jf~Tf C!?T ~«£IiCfl1 ~ 12,000 'R fclJ<rr <r1T I ~ .Jf~Tf em ~ (11~C'\1{j ~ ~ ~. ~

if ~ fW:rr I
(vi) ~ ~ U ~ ~ C!?T 70% crwr~.JfT I

~~, ~ cfi ~ ~ ~~ ctr~em~mcfi ~~ ~~I
'qflT-~ ~ 'qflT-lf ~ ~ .~ t:% 'qflT cpU I

'qflT-~

~ ~ ~:p:tjful:li ~

~ 40,000 ~-qM 44,000 .

~m 2,600 ~ 15,000
~ cfi ~ );[lCftWf 15,000 ~ 50,000
X's cpuf 40,000 ~ 75,000

~~: ~ 20,000
X 1,35,000 \fIl ~-q 100 .Jf~T 5,000
Y 30,000 ~Wl ~ -q 300 .Jf~T 18,000
Z 10,000 ~ 15,600

~~~ 30,000
2,72,600 2,72,600

.Jf~.
X, Y ~ Z ~ em 2:2:1 ~ -q ~ ~ I ~ ctr ~ 31 lW-f 2016 em \YfCfiT ~ ~

f.i9R:lfuld ~ % : 6

( 13 )
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~Qfi~ 31.03.2015 31.03.2016
~ ~

\3l~T~ 2,50,000 3,50,000
~\3l~T 1,50,000 1,00,000
~~ 40,000 60,000
~Cl'mmf.fWffi' 30,000 48,000
>I«1lfilCl~T 37,000 45,000
~~ 50,000 75,000
~~ 20,000 15,000
cnU cf; ~ ~ 40,000 25,000

~ 6,17,000 7,18,000

6

4(iii) ftCf)9 ~ em~ m it ~-"ij ~ .~m~?

12. f.:R \Jl1'iCf5I{l « ftCf)9 ~ ~ ~ ~ :

~ 31.03.2017 31.03.2016
~"ij JWf 37,50,000 30,00,000
\3R JWf 60,000 75,000
CZi<J 25,,30,000 22,00,000
~ 40% 35%

11. clR ~~..nit "ij ~ ~ ~~.,9ft :
(i) m~ ~100 ~ qffi ~ \3l~T 10~ ~ \3l~T~"Cf\ 20,000 tfl1ClT \3l~T ~ .-~ ~

~~m~~fcm: 4

~"Cf\ 50 ~

~"Cf\ 35 ~ (~ ~), \3lR
~ ~ ~ <tRRT"Cf\ 25 ~

30,000 \3l~if cf; ~ ~ W<f ~ ~ I 5,000 \3l~if cf; ~ ~ ~ <fiT ~ 0Wk1~ ~ Tf<lT

CI'm ~ ~T Cj'fCffi Cf){ ~ l1{ I m ~ <fiT JijQIR!Cf5 ~ if ~ ~ Tf<lT I

~ ~ 800 \3l~T~ ~ ~ ~ ~ ~ ~ ~ CI'm <tRRT ~T ~ if ~ ffil ~ ~
~ \3l~T~ Cf){ ~ I

m~ ~~ it ~ >lfil~lli ~ I

(ii) ~ WAT cf; ~"Cf\ 31 111"'4, 2017 em~ ~ qffi eM cf; ~ tl(T1'iI~tiCf5 ~-m frmur GRT~:

4

( 14 )
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Cost ~ 1,50,000

Salvage ~ 8,700

Life 25Years

Period 3Years

9. C/)"1\dltjit:1 ~ ~ q:<IT ~ ?

10. ~ ~ ~ ~ Q;tf ~ if ~ ~ 6ft ~ CfiT wWr m ~ qm cn0 CfiT ~ ~ I

(b) ~.6ft.~.Q;tf. if ~ q:<IT ~ ?

(c) B2 ~ B3 mr ~ ~ ~ 7JUAT ~ ~·Wf ~I

(iv) ~~~wm

8. (a) ~ if ~ ~-m qj"i(!~tjit:1 ~ WJTRifi CfiT ~ ~ ~ :

(i) ~ ~ (ii) ~ ~

~~

(i) crt ~ ~ ~ W4~ ~ \f{ ~~T: 7,500 ~ ~ 15,000 ~ ~ wn<n T["qT I

(ii) crt ~ ~ ~SlT 17,500~ ~ ~ 1J<n1

(Hi) crt ~ ~ 30,000 ~ ~ ~ I

(1~R1<li 31.03.2015 31.03.2016

~ ~

&ffid 1,00,000 75,000

W4~~ 1,75,000 1,50,000

~ 75,000 1,65,000
fc@m~ 1,50,000 2,00,000

~ 75,000 90,000

~~ 25,000 30,000

~~ 17,000 . 8,000

cwr 6,17,000 7,18,000

( 15 )
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4

2016 ~

June 1 Started business with cash 1,50,000

June 1 Purchased furniture for cash from Vijay 20,000

June 2 Purchased goods for cash 45,000

June 3 Stationery purchased 2,000

June 9 Purchased goods from Vinay on credit 10,000

June 15 Goods sold for cash to Prem 28,000

June 16 Goods sold on credit to Pritam 18,000

June 30 Paid Interest 8,000

4

~ ~ q"\ \31Rr1 ~ CfiT ~. 60,000 ~ err I
(ii) CflA<j\c{)9iCi (il<SlICflI{) ~ -3l~ ~ ~-t.IT ~ ~ :qfcl~4i ~ :

Debit ~ Credit ~

Salary 5,000 Sales 3,50,000

Wages 4,000 Purchases returns 3,000

Rent 6,000 Creditors 90,000

Carriage 10,000 Commission 7,000

Discount 6,000 Bills Payable 10,000

Debtors 60,000 Capital 1,74,000

Plant 70,000

Building 80,000

Opening Stock 75,000

Purchases 2,50,000

Sales Return 4,000

Gas & Water 3,000

General Expenses 7,000

Cash in Hand 14,000

Cash at Bank 40,000

6,34,000 6,34,000

11. ijt;:r :q~-;:ffif ~ ~ ~ :q~'f cn=t !
(i) ~ 7JlZ ~ ~ CflA<j\c{)9iCi (il<SlICflI{) ~ CfiT m ~ 31 ~ 2017 cfi \31Rr1 ~ ~: 4

( 16)
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Question No.7 be having as internal choice. TUs question carries 6 marks.

Part-A
(vii) Question IVo.1 consists of 3 sub parts carrying 1mark each. Objective type questions

may include questions with one word, one sentence answer/fill in the blank/true or
false/multiple choice type questions.
Question No. 2 to 5 will carry 2 marks each. Answer of theoretical question should be
given in 5-10 'lines.
Question No.6 consists of 4 sub parts. Attempt any three questions out of four.
Each question will carry 4 marks. Answer of theoretical question should be given in
15-20 lines.

(v) There is no word, line or page limit for numerical questions.
(vi)' The lise of non-programmable simple calculator is allowed.

1+5=69?~c{lceC1Wm ~ CflT CflIT ~ ~ ? ~ j'qm-m qiT fCm:nl: u ~ I

(English Version)
Note: (i) You must write the subject-code/paper-code 142/A in the box provided on the title

page of your answer-book.
(li) Make sure that the answer-book contains 30 pages (including title page) and are

properly serialed as soon as you receive it.
(iii) Question/s attempted after leaving blank pagels in the answer-book would not be

evaluated.
(iv) There are 3 sections in the question paper i.e. Part-A, Part-B and Part-C. Part-A is

compulsory for all the students and students may choose only one-Part from Part-B
and Part-C.

Name Marks in Marks in Marks in l\1arks in Marks in
Maths English Accountancy Business E-Business

Studies
50 50 50 50 50

Raman 40 42 43 40 41
Aman 45 43 42 46 45
Ajay 41 43 42 41 44
Surjit 43 41 42 45 47
Harjit 45 43 41 42 46
Parmit 42 45 43 41 48

1
2
3
4
5
6

GFEDcBA

12. m m?1 ~ ~ ~ CfiT1JURT cn8 ~ ~ mm m ~~&T qiT A'9 ~~TR ~ ~ G if ~ :
6

(17)
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25. A firm is under dissolution. Pass journal entries:
(i) An unrecordedAsset realized ~ 14,000

(ii) Bank loan ~ 17,000was paid.

142/A-SS I

1+1=2

Interest on drawings to be charged @ 9%.p.a.calculate interest on drawings.

4. What is Gaining Ratio? How is itcalculated ?

Month ~

01 May 2016 6,000
31 July 2016 3,000

c

30 September Z016 4,500
. -:".r • _'! ~j i, _f'

30 November 2016 6,000

01 January 1.0t7 . 4,000
31 March 2U~7 3,500

3. Harry is a partner in a fi~. He'-~ithdrew the following amounts during the -year ending
31st March 2017 : , ,'-;:j'! 2

1
Goodwill is an asset.

(c) WriteTrue or False: -
It is not necessary that new partner pays goodwill to old partners.

2. Writeany two differencebe~een.-irt~omeand expenditureaccount and profit and loss account.
2

1
1

(a) What ismaintenanceGrant?
(b) Fill in the blank: . (

1.

..~
,'''_, .Part-A

Question No.9' and 10 will c-arry.6markseach. Answerof theoretical question should
be given in 5-10,lines. ",-

Question No. 1.1 consists ilf 3 sub parts. Attempt any two questions out of three. Each
question will be of 4 marks. Answeroftheoretical question should be given in 15-20
lines.

Question No, 12 is with internal choice. Each question will be -of 6 marks. Answer of
theoretical question should be given-in $-4 pages of answer-book .

j ..

(viii) Question No. 8 consists 0/3 sub pa;ts"carrying"j mark ea~h. Answer of each Part
should be given In 1-15 words. ",

Part-B ana:Part c
C18 )
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Liabilities ~ 1 Ass~ts . ~

Sundry Creditors 56,000 Cash! _. I. " 40,000
General Reserve - 84,000 SundryDebtors 2,40,000
Capital Accounts Stock 2,80,000
Ram 4,80,000 Fixed Assets 3,00,000
Sham 2,40,000 7,20,000

8,60,000 . 8,60,000

::"',, ', \/~~I

(ii) What is partnership deed? Write its importance. 1+3=4
-."...

(iii) Ram and Sham are partners in ratio 4:3. Their Bilan~~"Sheets as at 31st March 2016 was
as follows : 0 '_ -~-JC" 4

(iv) Salaries outstanding ~ 400 :

Prepare Income and Expenditure Account.

Interest accrued on bank deposits but not received ~ 400.

142/A-SS

A building costing _~2,00,000 was purcHf}&y"cl:_dJ.l,+ingthe last year and ~ 1,76,000
was paid for it. .'

Subscription outstanding for the year 31-93.::2DI.?, was ~ 2,200.
. .' ) ." " ., :.,;. .~. ~~. • '. II. I • ..' •

(i)

(ii)
~"
, (iii)..

The following adjustments are required :

Receipts ~ Payment' ~

ToOpening Cash ~ '~I ~;}'!, -'.1,150 By Salary _ ' , 12,000
To Opening Bank Balance 32,600 By Sports Expenses' 13,800
To Subscriptions: . , . , _. "-: By Electricity Expenses 2,000

2013-2014
_

" , '2,020 . By Telephone Expenses 2,400
2014-2015 37,800 By General Body Expenses 400
2015-2016 . , 1,800 By Postage Expenses 1,400

To Donations '," ;_ '14~OOO By Printing and Stationery 1,700" -

To Bank Interest Received 2,.680, By Building Purchase Nc 24,000
To Receipts from sports 5,200 By Repair Expenses 800
ToTelephone Recoveries 1,800 By Closing Cash 3,530

ByClosing Bank Balance 38,020
1,00,050 1,00,050

i~j_.

\ _, \ y. _ •

-6. Attempt any three questions out o(fmp;:cJJ:!,~~stipns:,r'le
(i) Following is the Receipts and Payments Account of a Clubfor the year ending 31 March,

2015:'- ", , " . ., 4

(19 )
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On the above date Z was admitted as a New Partner in the firm on the followings terms:

(i) Fixed Assets are to be depreciated by 20%.

(ii) Provision for doubtful debts should remain at 5% on debtors.

(iii) The new profit sharing ratio wiUbe 5:3:2.

(iv) Z will pay ~ 40,000 as capital.

(v) Goodwill of the firm is valued at ~ 40,000.

(vi) The capital accounts of the partners be adjusted on the basis ofZ's Capital and any excess

or deficiency will be made by withdrawing or bringing in cash by the concerned partner.

Prepare Revaluation Account, Partners' Capital Account and Balance sheet of new firm.

Liabilities ~ Assets ~

Outstanding Expenses 10,000 Cash 15,600

Sundry Creditors 72,000 Sundry Debtors 48,000

Provision for Doubtful Debts 1,600 Stock 10,000

Capital Accounts: Fixed Assets 1,60,000

X 1,36,000 Goodwill 16;000

Y 62,000 Profit and Loss Nc 32,000

2,81,600 2,81,600

6Balance Sheet was as follows:

7. X and Y were partners in a firm sharing profits in the ratio of 3: 1. On 31st March 2017. Their

4(iv) Write any four steps to be taken at the time of dissolution of a firm.

Partners decided that with effect from 1st April 2016, they would share profits and losses

in the ratio 2: 1. It was agreed that:

(i) Fixed Assets are to be depreciated by 10%

(ii) A provision for doubtful debts is to be made on debtors @6%.

(iii) Stock be valued at ~ 3,80,000.

(iv) A liability for ~ 7,400 included in sundry creditors is not likely to arise.

Partners agreed that the revised values are to be recorded in the books. They do not, however

want to distribute the General Reserve.

Prepare Revaluation Account and Capital Account.

(20 )
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Acid test Ratio 1.6
Quick Assets ~ 1,28,000
Stock ~ 1,12,000

I
1

2

210. Calculate current Ratio from the following information:

1

Attempt any one Part from Part-B and Part-C
Part-B

8. (a) Which one of the following items is not a part of subscribed capital?
(i) Equity shares (ii) Preference shares
(iii) Forfeited shares (iv) Bonus shares

(b) What will be the operating profit ratio, if operating ratio is 88.94%?

(c) State two items of cash outflow from financing activities.

9. Write the types of debentures from conversion point of view.

(i) X takes over Debtors at ~ 10,000; Stock at 20% Less value; and Plant at ~ 30,000.

(ii) One of the Creditors took some of the Patents whose book value was ~ 8,000, at a valuation
of ~ 4,800. Balance of the creditors were paid at a discount of~ 1,200.

(iii) There was an unrecorded Assets of ~ 15,000 which was taken over by X at ~ 10,000 in
part payment of his loan.

(iv) Shares in Ram Co. were agreed to be taken over by Y at ~ 30 per share. '
(v) Shares in Sham Co. were valued at ~ 12,000. All partners divided these in their profit

sharing ratio. . .
(vi) Balance of the Patents realized 70% of their book value.
Prepare Realisation Account, Capital Accounts of the partners and Bank Account to close the
books of the finn.

Liabilities ~ Assets ~

Creditors 40,000 Cash at Bank 44,000
Bills Payable 2,600 Debtors 15,000
Provision for Depreciation 15,000 Stock 50,000
X'sLoan 40,000 Plant 75,000
Capital Accounts Patents 20,000

X 1,35,000 100 Shares in Ram Co. 5,000
Y 30,000 300 Shares in Sham Co. 18,000
Z 10,000 Goodwill 15,600

Advertisement Suspense Nc 30,000
2,72,600 2,72,600

or
X, Y and Z shared profits in the ratio of 2:2: 1. Following is their Balance Sheet as at
31st March 2016 on the date of dissolution: 6

( 21 )
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Capital and liabilities 31.03.2015 31.03.2016
~ ~

Share Capital 2,50,000 3,50,000
Preference share capital 1,50,000 1,00,000
General reserve 40,000 60,000
Profit and loss account 30,000 48,000
Proposed dividend 37,000 45,000
Sundry creditors 50,000 75,000
Bills payable 20,000 15,000
Provision for taxation 40,000 25,000

Total 6,17,000 7,18,000
Assets 31.03.2015 31.03.2016

~ ~
Goodwill 1,00,000 75,000
Land &Building 1,75,000 1,50,000
Plant 75,000 1,65,000
Sundry Debtors 1,50,000 2,00,000
Stock 75,000 90,000
Bills Receivables 25,000 30,000
Cash in hand 17,000 8,000

Total 6,17,000 7,18,000

(iii) What are steps involved in preparation of cash flow statement.

12. From the following information prepare cash flow statement:

'.
, :, "

4
6

Particulars ' . 31.03.2017 . 31.03.2016
Revenue from operations 37,50,000 30,00,000
Other Incomes 60000 75000
Expenses 25,30,000 22,00,000
Income Tax 40% 35%

11. Attempt any two questions out of three questions.
(i) Parteek Ltd. Invited applications for 20,000 Equity Shares of~ 100 each at a Premium of

~ 10 per share the amount was payable as follows:
~ 50 on Application; .
~ 35 on Allotment (including premium), and
~ 25 on First.& Final Call.
Applications for 30,009 shares were received. Application for 5,000 shares did not get
any allotment and their money returned, Allotment was made pro-rata to the remaining
applicants.
Harpreet was allotted 8qO shares. He failed to pay the amount due on allotment and call,

I "

money. The' company forfeited his shares. ' ,
Show the journal entries in the books of Parteek Ltd. 4

(ii) From the following information, prepare comparative profit and loss statement for the
year ended 31st March, 2017 : 4

(22 )
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Debit ~ Credit ~

Salary 5,000 Sales 3,50,000
Wages 4,000 Purchases returns 3,000
Rent 6,000 Creditors 90,000
Carriage 10,000 Commission 7,000
Discount 6,000 Bills Payable 10,000
Debtors 60,000 Capital 1,74,000
Plant 70,000
Building 80,000
Opening Stock 75,000
Purchases 2,50,000
Sales Return 4,000
Gas &Water 3,000

11. Attempt any two questions out of three questions.
(i) From the given trial balance show the final Accounts as on 31st December, 2017 using

computerized accounting system: 4

Cost ~ 1,50,000
Salvage ~ 8,700
Life 25 Years
Period .3Years

10. From the following information write the method to calculate depreciation using DDB function
inM.S. Excel. 2

1
1

2

(c) Write the formula for calculating the average of cells B2 and B3.

9. What is computerized accounting system?

1Following is not an advantage of computerized accounting system?
(i) High speed (ii) High cost
(iii) High reliability (iv) High security data,

(b) What is table in DBMS?

3+3=6
", • 'f~1 or~j',:;L~~rite significance and limitations of financial statement Analysis,

Part-C

(iii) ~ 30,000 income tax paid during the year.

(ii)

Depreciation of~ 7,500 and ~ 15,000 have been charged on plant and land & building
respectively during the year. '

An interim dividend of ~ 17,500 paid during the yea~.

Additional information:

(23 )
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What do you mean by Computerized Accounting System? Explain its features in detail.
1+5=6

or

Name Marks in Marks in Marks in Marks in Marks in
Maths English Accountancy Business . E-Business

.,

Studies :

50 50 50 50 '.. 50
Raman 40 42 43 40 41
Aman 45 43 42 46 45
Ajay 41 43 42 41 44
Surjit ' 43 41 42 45 47
Harjit 45 43 41 42 46
Parmit 42 45 43 41 48

1
2
3
4
5
6

(iii) Write any four aspects of Database Management System. 4

12. Write the formula of each row to calculate Total Marks of each student into column G of the
following sheet: 6

ABC D E F G

2016 ~

June 1 Started business with cash 1,50,000
June 1 Purchased furniture for cash from Vijay 20,000
June 2 Purchased goods for cash 45,000
June 3 Stationery purchased 2,000
June 9 Purchased goods from Vinay on credit 10,000
June 15 Goods sold for cash to Prem 28,000
June 16 Goods sold on credit to Pritam 18,000
June 30 Paid Interest 8,000

Closing stock was ~ 60,000 on that date.
(ii) Pass the journal entries on the following under computer accounting system: 4

General Expenses 7,000
Cash inHand 14,000
Cash at Bank 40,000

6,34,000 6,34,000

(24 )
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